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TRANSFORMATIONS: 8.6. 1-8.G.4
Label each of the following as either similar or congruent.
Slm_la,f' A dllataon with a scale factor of % and a trans!atlon of 2 units horlzonta!iy
s|m|lar congruept . ! AL
COWQWI A reﬂect:on over the x axis and a rotat;on of 50° clockwise, * pmme’r onl\/ ‘?Ll lO\ThOVLS
cov\grmf - leﬁd ‘o S\Wlotr\’t\[
Com YWLT A rotation of 270° CCW followed by a reflection over the x-axis.

o rrmd'
oonommnf Ar

eﬂectlon over the y-axis followed bya rgf? ctmn over the x-axis
’ cowam-f consyragant”
For each rule below, describe the transformation or sequence of {ransformations that took place.

bevi>@ezv Dilatn With a saale factor of

ty>xav2 Dilahon with a_seale factor 0f 3 and trondadion @ wnits down
ooy 2)f[mmsﬂm")or\'+ units naM and 2 unite dowp

ooy Refle(ion over the \I’GLXAC)

Parallelogram QRST is r=flected averthe y-axis to create parallefogram Q'R'ST. Use this information to answer
guestions tand 2.

. 1. Which angle is 2. QR isparllelto TS, Which
f corgruent to 287 sids s parallel to TF 2
A. !'_Q' C. qrff
B. £K B. AT 0 T
;’; -11:9— **ixa— S

Triangle RST is the resu!t of a dlEation of ANPQ with the center of dliatlon at the origin and a scale factor-of 1/3.

Whlh of the following must be true? - 8 X Rem emlper ot
\ﬂl@% dont chongt,
even, n a dilation.

) 2N is congruent to «R.
. 2N is congruent to £S.
C. 2P is congruentto £R.
D. 4P is congruentto 2T.
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Triangle XYZ. is the result of a dilation of AJKL with the center of dilationat the originand a
scale factor of 4. Use this fo answer questions 5 and 6.

Y Which names a pair of corresponding, congruent angles?
A zland 2X
B. zLand £Y
. 2Kand £X
2Kand £Y

31
24
[

L
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Which is NOT true of the triangles in the diagram?

_—

A X7 is similar to AJKL bacause a dilated Emage is simitar to the original figure.
B. The ratio of - Is equivalent to the ratio of =
L. oml= mAX

’_~-=>Q (sides areny eqmj A Mlimﬁon)




When paralle] lines are cut by a transversal, they create special angle relationships. Each relationship is either congruent {equal ) or
supplementary (add up to 180°). You must know the relationships and if they are equal or supplementary. Study your vocabulary!

SPECHANL ANGLES 8.6.5

In the picture below, lines m and n are parallel and line p is a transversal.

Stupplementary Angle Examples: Congruent Angle Examples:
£1 and £2 form a straljght line and are supplementary £1 and. 25 are congruent because they are corresponding angles.
£1 and £7 are supplementary because they are same side £3 and £6 are congruent because they are alternate interior
exterior angles angles
23 and £5 are supplementary because they are same side £2 and £7 are congruent because they are alternate exterior
interior angles angles
£2 and £3 are congruent because they are vertical angles
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1. What relationship exist between angles 1and 27 2. What relationship exist between angles 2 and 37
a, Corresponding Angles /{7’ Corresponding Angles
Supplementary Angles h,  Supplementary Angles
C.  Vertical Angles Vertical Angles
d.  Alternate Exterior Angles Alternate Exterior Angles .
3. What relationship exist between angles 1and 5? 4,  What relationship exist between angles 2 and 7?
Corresponding Angles a.  Correspending Angles
5. Supplementary Angles b. Supplementary Angles
c. Vertical Angles ' €. Vertical Angles
d. Alternate Exterior Angles Alternate Exterior Angles

. The figure below shows part of a stepladder with two steps. Each step is parallel te the ground and attached to a diagonal rod.

//son Which conclusion is true based on the given information and angle relationships?
~

i
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The value of x is 80 because vertical angles are congruent.
B. The value of x is 80 because adjacent angles are congruent.
C. Thevalue of xis 100 because alternate vertical angles are supplementary.
D. The value of x is 100 because alternate exterior angles are supplementary.

in the diagram to the left, three lines intersect at N. The measure of ZGNF is 60°, and the measure of
ZMNLIs 47°. What is the measure of ZHNK?

X

(01 Xx+4H7 =20 MLHNK = X (since ey ve Vertica|

107+ x=130. | arales)
o ‘e 7';7 m/HNE =T




The gate for a picket fence has a crass brace as shown in the diagram below. The two horizontal braces are parallel and the measure
of £3is 24°. Which explanation could be used to find the measure of £1?

i?,;a"l' A, Since £2 and £3 are complementary angles, mZ£2is 66°. £Z1 and 22
SN “ are alternate exterior angles, somz1is 66°.

B. Since £2 and £3 are supplementary angles, m£2 is 156°. 21 and 22
- are alternate interior angles, so m£1 is 156°. -
* (0’0 Since £2 and £3 are complementary angles, m£2 i5 66°. 21 and £2
are alternate interior angles, so'm£1 is 66°.
D. Since £2and £3 are supb!ementary angles, m£2is 156°, Z1and £2

TR [_3-“9_: ﬁ'og g ‘ are corresponding angles, so m21 is 156°.
VALY V2 Lo=4
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1. Any angles that form a straight line are supplementary and have a sum of 180°.
2. The interior angles of a triangle have a sum of 180°.
3. An exterior angle will be equal to the sum of its remote interior angles (the two furthest away).

All of these rules are true all of the time! You can use them to solve for missing angles.

In the figure below, lines m and n are parallel. Which valid statement is part of the proof that the sum of the measures

of 21,22, and £3s 180" o o

A )
P ~ transversal Q.

21 and £4 are congruent because they are eestespondiag-angles on the
transversal g.

7’ ,E/ £2 and £4 are congruent because they are aftermate-trterierangles on the

1 and £4 are congruent because they are alternate interior angles on the

transversal q.

£2 and £4 are supplementary because they are akterpate-mtertorangtes on the
transversal g.




